Mod-0
Baseline

Mod-2 Mod-1
Baseline

Baseline

Mod-3
Baseline

ACL

—5000 ~

—10000 -

—15000 -

—20000

—25000 4

—30000

—5000 ~

—10000

—15000 +

—20000

—25000 4

—30000 +

—5000 ~

—10000 -

—15000 +

—20000

—25000 +

—30000 ~

20000

10000

—10000 -

—20000

-
LT X s " LR X LR X
-
* «* " L]
- - - AL L *a -
et eeste, # ottt 2faa, a* et P
-
T T
LR anaw anaw anaw
- L - *a LA 1
et tas,e T Tare Tate, Tae et s farrt e
-
T T
LR anaw anaw anaw
-
an . e et e -
et e e o TeeTaeTT . tases 00 Tar e ot
T T
]
LR LT " anaw anaw
-
-
-
++++++++++++ ++++++¢+ +++¢++++++ +¢++¢++++++¢
T T

LCM

—5000 ~

—10000

—15000 ~

—20000 ~

—25000 ~

—30000 ~

LR L .. e - aew

-

- . -
PR, et U s e taaee Taar Taaaer Frane e vy

-

0 63

—5000 ~

—10000

—15000 ~

—20000 ~

—25000 ~

—30000 -

LR L .. e - aew

. . L] e e -
P LR e LR L MR L L L L R |

0 63

—5000 ~

—10000

—15000 ~

—20000 ~

—25000 ~

—30000 A

LR L .. e - aew

..
*¢+++' . . st rane? L. e _Tagn_wan * +*+¢'+¢¢

0 63

—5000 ~

—10000

—15000 ~

—20000 ~

—25000 ~

—30000 -

LR L .. e - aew

-
L] ™ * & » Tagw_wa *
++++++++++++ * e +*+++ . aate et " - - -

0 63

LCM




Active Channel

Active Channel
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ADC Value ADC Value ADC Value

ADC Value

ADC 0: Channels [0:5]

30000 +

20000

10000

ADC 0: Channels [12:17]

30000 +

20000

10000

ADC 0: Channels [24:29]

30000 +

20000

10000

ADC 0: Channels [36:41]

30000 +

20000

10000

T
200

T T
400 600

Sample [0.016 us]

T
800

T
1000

ADC 0: Channels [6:11]

30000 +

20000

10000

ADC 0: Channels [18:23]

30000 +

20000

10000

ADC 0: Channels [30:35]

30000 +

20000

10000

ADC 0: Channels [42:47]

30000 +

20000

10000

— Sum

T
200

T T
400 600
Sample [0.016 us]

T T
800 1000




ADC Value ADC Value ADC Value

ADC Value

ADC 1: Channels [0:5]

30000 +

20000

10000

ADC 1: Channels [12:17]

30000 +

20000

10000

ADC 1: Channels [24:29]

30000 +

20000

10000

ADC 1: Channels [36:41]

30000 +

20000

10000

T
200

T T
400 600

Sample [0.016 us]

T
800

T
1000

ADC 1: Channels [6:11]

30000 +

20000

10000

ADC 1: Channels [18:23]

30000 +

20000

10000

ADC 1: Channels [30:35]

30000 +

20000

10000

ADC 1: Channels [42:47]

30000 +

20000

10000

— Sum

T
200

T T
400 600
Sample [0.016 us]

T T
800 1000




ADC Value ADC Value ADC Value

ADC Value

ADC 2: Channels [0:5]

30000 +

20000

10000

ADC 2: Channels [12:17]

30000 +

20000

10000

ADC 2: Channels [24:29]

30000 +

20000

10000

ADC 2: Channels [36:41]

30000 +

20000

10000

T
200

T T
400 600

Sample [0.016 us]

T
800

T
1000

ADC 2: Channels [6:11]

30000 +

20000

10000

ADC 2: Channels [18:23]

30000 +

20000

10000

ADC 2: Channels [30:35]

30000 +

20000

10000

ADC 2: Channels [42:47]

30000 +

20000

10000

— Sum

T
200

T T
400 600
Sample [0.016 us]

T T
800 1000




ADC Value ADC Value ADC Value

ADC Value

ADC 3: Channels [0:5]

30000 +

20000

10000

ADC 3: Channels [12:17]

30000 +

20000

10000

ADC 3: Channels [24:29]

30000 +

20000

10000

ADC 3: Channels [36:41]

30000 +

20000

10000

T
200

T T
400 600

Sample [0.016 us]

T
800

T
1000

ADC 3: Channels [6:11]

30000 +

20000

10000

ADC 3: Channels [18:23]

30000 +

20000

10000

ADC 3: Channels [30:35]

30000 +

20000

10000

ADC 3: Channels [42:47]

30000 +

20000

10000

— Sum

T
200

T T
400 600
Sample [0.016 us]

T T
800 1000




ADC Value ADC Value ADC Value

ADC Value

ADC 4: Channels [0:5]

30000 +

20000

10000

ADC 4: Channels [12:17]

30000 +

20000

10000

ADC 4: Channels [24:29]

30000 +

20000

10000

ADC 4: Channels [36:41]

30000 +

20000

10000

T
200

T T
400 600

Sample [0.016 us]

T
800

T
1000

ADC 4: Channels [6:11]

30000 +

20000

10000

ADC 4: Channels [18:23]

30000 +

20000

10000

ADC 4: Channels [30:35]

30000 +

20000

10000

ADC 4: Channels [42:47]

30000 +

20000

10000

— Sum

T
200

T T
400 600
Sample [0.016 us]

T T
800 1000




ADC Value ADC Value ADC Value

ADC Value

ADC 5: Channels [0:5]

30000 +

20000

10000

ADC 5: Channels [12:17]

30000 +

20000

10000

ADC 5: Channels [24:29]

30000 +

20000

10000

A
I
B -

ADC 5: Channels [36:41]

30000 +

20000

10000

|

T
200

T T
400 600

Sample [0.016 us]

T
800

T
1000

ADC 5: Channels [6:11]

30000 +

20000

10000

ADC 5: Channels [18:23]

30000 +

20000

10000

ADC 5: Channels [30:35]

30000 +

20000

10000

ADC 5: Channels [42:47]

30000 +

20000

10000

— Sum

T
200

—= T
400 600
Sample [0.016 us]

T T
800 1000




ADC Value ADC Value ADC Value

ADC Value

ADC 6: Channels [0:5]

30000 +

20000

10000

ADC 6: Channels [12:17]

30000 +

20000

10000

ADC 6: Channels [24:29]

30000 +

20000

10000

ADC 6: Channels [36:41]

30000 +

20000

10000

T
200

T T
400 600

Sample [0.016 us]

T
800

T
1000

ADC 6: Channels [6:11]

30000 +

20000

10000

ADC 6: Channels [18:23]

30000 +

20000

10000

ADC 6: Channels [30:35]

30000 +

20000

10000

ADC 6: Channels [42:47]

30000 +

20000

10000

— Sum

T
200

T T
400 600
Sample [0.016 us]

T T
800 1000




ADC Value ADC Value ADC Value

ADC Value

ADC 7: Channels [0:5]

30000 +

20000

10000

AT

V)
Ko WPWPH

ADC 7: Channels [12:17]

30000 +

20000

10000

E....J\_ . '

ADC 7: Channels [24:29]

30000 +

20000

10000

ADC 7: Channels [36:41]

30000 +

20000

10000

T
200

T T
400 600

Sample [0.016 us]

T
800

T
1000

ADC 7: Channels [6:11]

30000 +

20000

10000

— . | — —_—

ADC 7: Channels [18:23]

30000 +

20000

10000

h
| —

ADC 7: Channels [30:35]

30000 +

20000

10000

ADC 7: Channels [42:47]

30000 +

20000

10000

— Sum

T
200

T T T T
400 600 200 1000
Sample [0.016 us]
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Mod-0
Max Amp [ADC]

Mod-2 Mod-1
Max Amp [ADC]

Max Amp [ADC]

Mod-3
Max Amp [ADC]
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Full Detector: Maximum Amplitude by Channel
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Zero-Indexed Minimal Response Channels:[318 320]

Full Module: Average Amplitude by Channel
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Zero-Indexed Minimal Response Channels:[]

Full Detector: Ratios of the Average Noise Amplitude [800:1000]/[0:200]
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Dark Counts Per Wvfm
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SiPM Channel Output
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Waveform Example : Module 0
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Power Spectrum [dB]

ACL Noise Power Spectrum

Module O: Noise FFT, 143 Waveforms

LCM Noise Power Spectrum
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Waveform Example : Module 1
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Power Spectrum [dB]

ACL Noise Power Spectrum

Module 1: Noise FFT, 141 Waveforms

LCM Noise Power Spectrum
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Power Spectrum [dB]

ACL Noise Power Spectrum

Module 2: Noise FFT, 141 Waveforms

LCM Noise Power Spectrum
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Waveform Example : Module 3
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Module 3: Noise FFT, 137 Waveforms

ACL Noise Power Spectrum LCM Noise Power Spectrum
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